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CBT Sample assessment model answers

Bookkeeping controls (BKCL)

Sample assessment 2
Task 1 (12 marks)
[image: image2.png]{a) Identify the characteristics of each payment method below by:
- selecting the most appropriate circumstances in which each payment method would be used
- showing whether payments will reduce funds in the payer's hank on the date of payment or at a
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Itis important to regularly reconcile the cash book with the bank statement

(b) Show ONE reason why regular reconciiation is important. (1 markg

Reason

To sheck that any discounts received from credit suppliers
have been recorded correctly

To sheck for any errors on the bank statement or in the
bank column of the cash hook.

“To check the total amount of cash sales has heen
recorded correctly

To check that credit customers have paid in accordance
with agreed payment terms.






Task 1, continued

[image: image3.png](€) Show whether the errors below will or will not cause an imbalance in the trial balance by clicking on
each left-hand box and then the appropriate right-hand box. You can use each right-hand box more
than once and can remove a ine by clicking on t. (5 marks)

Errors

Sales have heen recorded cormecty I the VAT and
sales ledger control accounts but debited to the sales
account.

“The purchase of a computer by BACS has Been

credited to the bank account and debited ta the office Wil cause an
expenses account imbalance inthe tal
balance.

Cash drawings have been debited to the cash
account and credited to the drawings account.

Will not cause an
imbalance inthe tal
balance.

VAT on petty cash payments has been recorded in the
petty cash book only.

Discounts received from credit suppliers have been
omitted from the accounting records.





Task 2 (12 marks)
[image: image4.png]‘Show the journal entries needed to record:

- the wages expense
- the HM Revenue and Customs liability
- the pension liablty.

Do not enter a zero in unused debit or credit column cells. (12 marks)

Journal to record the wages expense
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Task 3 (10 marks)
[image: image5.png](a) Prepare journal entries to record these transactions.
Do not enter a zero in unused debit or credit column cells. (8 marks)
Journal to record the owner's investment
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(b) Complete the partially prepared journal entries to write off the £520 in the general ledger.

Journal
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ates tedgerconrol ) 520





Task 4 (10 marks)
[image: image7.png]Complete the VAT control account by placing the entries on the debit or credit side. (10 marks)

VAT control Entries *
Detas amount Detas amount

Balance bif 2,374| Bank (T refunc) 2374

Cash purchases 75| cash sales 120

Discounts allowed 132 Discounts received 335

Purchases 2,754 Purchases refums 748

Sales retums 308 | Sales 5221





Task 5 (14 marks)
[image: image8.png](@) Complete the reconciliation statement below by:
- inserting the balance of the purchases ledger control account
- inserting the total of the balances in the purchases ledger

- calculating any difference. (3 marks)
Reconciliation statement Ampunt
Furchases ledger control account balance arars
Total of the balances inthe purchases ledger 743t
Difierence 447

(b) Which ONE of the reasons below could explain the difference you calculated in (a)? (1 markg

Reasons

Goods purchased were entered bwice in a supplier's account inthe purchases ledger.

Goods retumed were entsred twice in the purchases ledger control account.

Discounts recsived were entered twice in the purchases ledger control account.

Apayment was entered twice in a supplier's accountin the purchases ledger





Task 5, continued 
[image: image9.png](©) Show whether each entry will be a debit or credit in the sales ledger control account by dragging
each amount to the appropriate column. (8 marks)
Sales ledger control

Amount Dehit Credit

Transactions 3 7 i

Balance owing at 1 July

Payments received by theque

Discounts allowed

Goads sald

Goads returned

Payments received in cash

Irecoverable debts

Joumal debitto correct an error

(@) What will be the balance brought down in the sales ledger control account at 1 August? (@ marks)
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Task 6 (10 marks)
[image: image10.png]Cash book

Details

Manvin plc
Seth Smith
JontyLid
[casta plc
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Task 7 (14 marks)
[image: image11.png]Identify the FIVE transactions that are included in the cash book but missing from the bank statement and
complete the bank reconciliation statement as at 31 July.

Do not enter figures with minus signs or brackets in this task.

Bank reconciliation statement

Balance as per hank statement 2841
[CN Finishing 543
[Fin and Hoy 2644
Total to add 3187

INoof Traders T19)
[Shah Wators 2001
[Fayior Lia o3
Totalto subtract 3756

Balance as per cash book 2272

(14 marks)





Task 8 (14 marks)
[image: image12.png](a) Prepare journal entries to:
- removethe incorrect entry
- recordthe correct entry
- remove the suspense account balance.
Do not enter a zero in unused debit or credit column cells. (6 marks)

Journal to remove the incorrect entry.

Account name

[Discounts allowed

Journal to record the correct entry
Account name

[Discounts allowed

[Suspense v as0





Task 8, continued
[image: image13.png]{b) Prepare journal entries to:
- removethe incorrect entry
- recordthe correct entry
Do not enter a zero in unused debit or credit column cells. (4 marks)

Journal to remove the incorrect entry.

Account name s

IMotar venicles v 630

IMotor expenses

Atransaction has been omitted from the general ledger A BACS receipt of £1,664 from a credit customer had
not been recorded.

(¢) Prepare journal entries to record this transaction.
Do not enter a zero in unused debit or credit column cells. (4 marks)

Journal to record the transaction

Account name s

[Bank

[Sales leager cantral 1664





Task 9 (10 marks)
[image: image14.png](@) Record the journal entries in the general ledger by placing the appropriate entries in the accounts.

below. (4 marks)
Suspense
Amount Amount
Details 3 Details 3 Entrios
Heat and light 982 Balance bit 629
Heat and light 353
Heat and light
D Amount o Amount
% %
Balance bit 5,508 Suspense 982
Suspense 353





Task 9, continued

[image: image15.png]ib) Record the journal entries in the general ledger by placing the appropriate entries in the accounts

below. (4 marks)
Drawings
Amount Amount
Details B Details B Entrios
Balance bt 3.757]
Bank deposit 1,500
Loan from bank
D Amount D Amount
% %
Bank deposit 1,850 |Balance bif 5,550|
Bank deposit
o Amount o Amount
% %
Balance bit 15,500| Drawings 1,500)
Loan from bank 1,850)





Task 9, continued

[image: image16.png](€) What will be the balance carried down in the bank deposit account? (2 marks)
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Task 10 (14 marks)
[image: image17.png]{a) What entry is needed in the suspense account to balance the trial balance?
Do not enter a zero in the unused column cell. (1 markg
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[image: image18.png]i) Calculate the new balance of each account after the journal entries have been recorded.
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Task 10, continued

[image: image19.png](c) Complete the trial halance below by:

- inserting the figures of the first seven accounts in the debit or credit column
- inserting the halances you calculated in (b)in the debit or credit column
- totalling the debit and credit columns.

Do not enter your figures with decimal places in this task and do not enter a zero in unused debit o
credit column cels. (11 marks)

Trial halance

| capital 14,279) 14279
| casn at bank 10,253 10253
| Fumiture and equipment 78,369) 78369
| Purchases ledger control 32,442 32442
»| VT owing to HM Revenue and Customs 6,154] 6154
| cash sales 150,311 150311
| Purchases 98,558| 98556
| General expenses 16129
| Bank interest received 121
] Totals 203307] 203307
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